

Ajouter et Soustraire Deux Fractions Mixtes (E)

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 8\frac{2}{4} + \frac{6}{16} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$2. \quad 9\frac{1}{7} + 2\frac{10}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$3. \quad 6\frac{16}{20} - 2\frac{3}{4} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$4. \quad 4\frac{3}{9} - 2\frac{1}{3} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---} = \text{---}$$

$$5. \quad 9\frac{4}{5} - 8\frac{7}{10} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$6. \quad \frac{1}{2} + 6\frac{1}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$7. \quad 5\frac{3}{5} + 7\frac{14}{15} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$8. \quad 9\frac{5}{7} - 7\frac{12}{14} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---} = \text{---}$$

$$9. \quad 6\frac{2}{5} - 2\frac{7}{20} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$10. \quad 9\frac{6}{9} + 2\frac{2}{3} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

Ajouter et Soustraire Deux Fractions Mixtes (E) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 8\frac{2}{4} + \frac{6}{16} = \frac{34}{4} + \frac{6}{16} = \frac{136}{16} + \frac{6}{16} = \frac{142}{16} = \frac{71}{8} = 8\frac{7}{8}$$

$$2. \quad 9\frac{1}{7} + 2\frac{10}{14} = \frac{64}{7} + \frac{38}{14} = \frac{128}{14} + \frac{38}{14} = \frac{166}{14} = \frac{83}{7} = 11\frac{6}{7}$$

$$3. \quad 6\frac{16}{20} - 2\frac{3}{4} = \frac{136}{20} - \frac{11}{4} = \frac{136}{20} - \frac{55}{20} = \frac{81}{20} = 4\frac{1}{20}$$

$$4. \quad 4\frac{3}{9} - 2\frac{1}{3} = \frac{39}{9} - \frac{7}{3} = \frac{39}{9} - \frac{21}{9} = \frac{18}{9} = \frac{2}{1} = 2$$

$$5. \quad 9\frac{4}{5} - 8\frac{7}{10} = \frac{49}{5} - \frac{87}{10} = \frac{98}{10} - \frac{87}{10} = \frac{11}{10} = 1\frac{1}{10}$$

$$6. \quad \frac{1}{2} + 6\frac{1}{14} = \frac{1}{2} + \frac{85}{14} = \frac{7}{14} + \frac{85}{14} = \frac{92}{14} = \frac{46}{7} = 6\frac{4}{7}$$

$$7. \quad 5\frac{3}{5} + 7\frac{14}{15} = \frac{28}{5} + \frac{119}{15} = \frac{84}{15} + \frac{119}{15} = \frac{203}{15} = 13\frac{8}{15}$$

$$8. \quad 9\frac{5}{7} - 7\frac{12}{14} = \frac{68}{7} - \frac{110}{14} = \frac{136}{14} - \frac{110}{14} = \frac{26}{14} = \frac{13}{7} = 1\frac{6}{7}$$

$$9. \quad 6\frac{2}{5} - 2\frac{7}{20} = \frac{32}{5} - \frac{47}{20} = \frac{128}{20} - \frac{47}{20} = \frac{81}{20} = 4\frac{1}{20}$$

$$10. \quad 9\frac{6}{9} + 2\frac{2}{3} = \frac{87}{9} + \frac{8}{3} = \frac{87}{9} + \frac{24}{9} = \frac{111}{9} = \frac{37}{3} = 12\frac{1}{3}$$